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Belur Math, Howrah — 711 202

ADMISSION TEST - 2019
ZOOLOGY (Honours)

Date : 19-06-2019 Full Marks : 50 Time: 03:00 p.m —4-00 p.m.

Instructions for the candidate

Answer all the questions given below. Tick (v') the correct option in the OMR SHEET. Each correct answer carries
2 marks. For every wrong answer 0.5 mark will be deducted.
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10.

11.

12.

Gemmule formation happens in poriferans to
(a) face adverse climatic conditions (b) multiply by budding
(c)botha &b (d) none of these

The factor which differentiates between apomixis and amphimixis is
(a) autotomy (b) blastogenic reproduction (c) fertilization (d) none of these

A Klinefelter male having 48 chromosomes is an example of
(a) Disomy (b) Monosomy (c) Trisomy (d) none of these

The reptilian features in Archaeopteryx are
(@) similar teeth in jaw & clawed digit  (b) circular skull & four digits in hind limb
(c) botha &b (d) none of these

The type of cancer originated in spleen is
(@) Lymphoma (b) Leukaemia (c) Sarcoma (d) Carcinoma

Predatory animals used for biological control of pest insects are
(a) Stem borers, Leafhoppers (b) Trichogramma, Wolf spiders
(c) Hoverfly larvae, Ladybird beetles (d) bothb & ¢

Transgenic ‘Golden Rice’ contains
(@) more lysine (b) more Vitamin A (c) more calciferol (d) more methionine

The ‘Pioneer Community’ in hydrosere is
(@) Azolla (b) Zooplanktons (c) Phytoplanktons (d) Riccia

Which one of the followings is a biodegradable pollutant?
(a) DDT (b) aluminium can (c) silver foil (d) none of these

In a large population, the gene frequencies and genotypic frequencies of all the alleles are constant
generation after generation. The population is .
(a) undergoing macro evolution (b) not undergoing macro evolution
(c) undergoing micro evolution (d) not undergoing micro-evolution

The shape of age pyramid in a population with low pre-reproductive and reproductive age groups
is-
(a) Broad-based, (b) Urn-shaped, (c) Bell-shaped, (d) All of these

Vertebrae are developed from
(@) notochord (b) somites (c) nerve cord (d) none of these
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15.

16.

17.
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20.
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22.

23.

24.

25.

Supposing you are a normal diploid individual, without any chromosomal aneuploidy. How many
different types of chromosome do you possess?
(@) 23 types (b) 22 types (c) 24 types (d) 46 types

Why the first meiotic division is reductional division?

(i) Homologue pairing (ii) Double division
(iii) No interphase before the second division  (iv) Metaphase arrest

(@ iand ii (b) ii and iii (c) i and iii (d) iiiand iv
Babies consuming colostrum is an example of

(a) Active immunization (b) Passive immunization

(c) bothaand b (d) none of these

DPT vaccine is given to newborns. DPT stands for-

(a) Diphtheria, Pertussis and Tetanus, (b) Diphtheria, Pox and Tetanus,

(c) Dengue, Pertussis and Tetanus, (d) Dengue, Pox and Tetanus

Ascaris pneumonia is caused by which rhabditiform larva?

(a) 1St (b) 2nd (C) 3rd (d) 4th

The total number of Biodiversity Hotspots worldwide and in India are respectively-

(@) 20 and 4, (b) 25 and 4, (c) 30 and 4, (d)35and 4
The correct order of Greenhouse Gases based on their concentration in the atmosphere-
(@) N2O<CFC<CH<CO; (b) CFC<N,0<CH4<COs,,

(€) N2O<CH4<CFC<CO;, (d) CFC<CH<N,0<CO,

Sunderlal Bahuguna was the leader of-

(@) Silent Valley Movement (b) Chipko Movement

(c) Amrita Devi Bishnoi Movement (d) Dasholi Gram Swarajya Mandal Movement

Breathing rate in mammals is controlled by a part of the brain called
(@) Thalamus (b) Hypothalamus (c) Medulla Oblongata (d) Cerebellum

Haemoglobin-oxygen dissociation curve is
(@) sigmoid (b) constant (c) straight line (d) parabolic

The formation of RBCs in foetus takes place in
(@) liver & spleen (b) sarcoplasm (c) bone marrow (d) thymus

Blood pressure increases and heart rate decreases in response to
(a) haemorrhage (b) exercise
(c) exposure to high altitude (d) increased intra-cranial pressure

Chloragogen cells are found in -
(@) Cockroach (b) Earthworm (c) Snail (d) Round worm
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ARl AR AN GF TIRNT 91 2a17 Fige —

a) fegeT AR IR T b) budding -3 ST I TBEH

c) a9 b gfoe d) 90rE (@02 9%

SCHAfERT (apomixis) € STfFRTEPT (amphimixis) “afeatza STy si19< iz 367 961 ze1—

a) SIHIGH (autotomy) b) FGITET= &= (Blastogenic reproduction)
¢) fcs= (fertilization) d) 9 FI0E 97

8t b capricanieens i3 Kilnefelter =73 251 —

a) Disomy - Snizael b) Monosomy -3 Swizgel  ¢) Trisomy -7 Swizgel d) R &IF0E T
Archaeopteryx @3 P51 T {Eyefer ze1—

a) THIRICET ATSFOT 1S @ TS WIgaT b) THNETII S S B SNGES A5

c) a €3 b yivg d) 90rR (@02 791

IS TG FOCANNHIE <@l 70—

a) Lymphoma b) Leukaemia c) Sarcoma d) Carcinoma
2P *1o0od (oR g fiat ellfiefs 2e7—

a) Stem borers, Leafhoppers b) Trichogramma, Wolf spiders

c) Hoverfly larvae, Ladybird beetles d) b @< ¢ 762

SIS ET=IfeT It (Golden rice) AtE —

a) WK QI 2P b) =itz sTaR feBifm A

¢) SIfEs WQT FeARCTES d) wifa< s s

Fgiae lizeffme SRRt 2o —

a) Azolla b) SREG C) TFIZCOIREG d) Riccia
ffafee et toRfcare e 13 (biodegradable pollutant) 2

a) DDT b) SR FIo! ¢) Prerei T s d) 90 (@08 7

93D J2R APEHIT ATSIFL SR gene frequency €3k genotypic frequency IR Swifiiaea 20,

T& 7751/
a) Macro evolution 960% b) Macro evolution TGz I

¢) Mircro evolution <5T% d) Mircro evolution <Gr2 «l «
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[-2TTee] @ 2T JACR LA AR ZPT (AT T 2I5{(eITad 321 FRifeires o 28 —
a) e i3 b) FePIFRS c) T d) g ARl
FHTE] BT T —
a) TAIOIFS TAF b) GG TAF C) MSFE TAF d) ama &FI0E w1
R A, O GG (FICATSTIE aneuploidy [E FeiRS [CURe Jie | Fowfl foF o (@ IEITe (oE
PIIRCLIECR
a) RO YT b) 2 YR C) 38 UFIF d) sv aila
e 223 b Retecs g1 [eres ee 2
i) Homologue pairing i) falReiee i) fasiy Rele s eIz =sif2fs  iv) Metaphase arrest
a) i @R i b) iii €= iii ¢) i @ i d) iiii €% iv
AmeocFa Colostrum =i~
a) ANFT Sl Szl b) ffE Smig=roR Snizae
c) a«xR b ufoe d) 90rF (@02 9
DPT =it Bissl Semieetas (nedl 221 | DPT F@10e (/R —
a) fCoiralfaa, #=pReT @ GroamT b) fGsicafza, =151 @ Groam
C) T3, 2IFG0F1 @ o d) e, #i9 € B
SpRREITRRT ST (i AR feibE =1ia (rhabditiform larva) < €062
a) =YW b) fasr C) Tl d) sed
el T @3k ©IRCe ATACizeIHG 261063 (Biodiversity Hotspots) 2 T&CT —
a) 0 ¥R 8 b) ¢ ¥R 8 C) 90 &R 8 d) oe @R 8
IINGTET SRIFS EAeI2ST a7 Iwres 7w @it 21—
a) N;O<CFC<CH,<CO, b) CFC<N,0<CH,<CO,
¢) N,O<CH,<CFC<CO, d) CFC<CH4<N,0<CO;,
RIS T2l (I S (TO! =TT 2
a) ANBETT TGP SACHIET b) oAt STHIET
¢) STl (M<! R Scwiets d) TR 2N FAIST N SACWIeTe
B (I S @I WP 29 e 232
a) IS b) ZIZTAAIEAST C) CTGIe SRETH6! ) IBISEI
faricanfRe-iiEss fernfem 745 (Haemoglobin-oxygen dissociation curve) 25fs ol ?
a) PrasEe b) ST C) FEART d) sir=icifers
R 0K (AT (TR T Ffel (RBC) Teolm 232
a) IF© € A=l b) Iz c) wifgarest d) iz
TR Aot TSbI71 Jian 2117 IR T 21 BT AR 2
a) TEFI! b) A ¢) TwolfAf*E Fie el d) ZGI-Te (eI Bist Jia
RIS (A 2T ERTATANTSE T 21 A 2
) ST b) THTH! ¢) W d) Tt
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